128.1f matrix A = _22 'ﬂ and A =pd, thes the
value of p is )
a. b b.—4 e.d d. 8
(=2 0 0
129.1f A(adjA)=| 0 =2 0 | then |adjA| equals
0 0 -2
a. -2 b.-—-cl e d d. &

130.The coefficients a, b and ¢ of the quadratic
equation, ax® +bx + ¢ = 0 are obtained by
throwing a dice three times. The probability
that this equation has equal roots is
1

e gk
72 216
el ol
36 54
131. 8*%° i5 equal to
a. log, 25 b. 120
c. 125 d. log,15

132. The equation of normal to the curve
y=(1+x)¥ +si1'1_]l:1!'in2 x)atx =0is

ax+y=1 bhx—y=1
e.xr+y=-1 dx—y=-1
2
ﬂ—-\iﬂE—I! —-x—-—
133. If L =lim 4 4>0 IfLis finite,
x—ll I‘

then
a.a=2 bh.a=1
n.=% d. None of these

134.What will be the equation of circle whose
centre is (1, 2) and touches X - axis?
a.x +gz—21'—4y +1=0
bl -y + 2+ dy+1=0
ety +2—dy—1=0
dei+y +2x+dy—1=0
135. The approximate value of £(5.001) , where
flry=x*-Tx* +15is
a. —34.995 b.-33995 ¢ -33335 4.-35995
136.Find the centre and radius of the eircle given by
the equation 2x” + 2y° + 3x + 4y +§={L

a.l b. -1 c.2 d. -2

137. Find the maximum value of f(x)=————.
4P 42041
- 52
4 3
. % d. None of these
=
138.1f f{x}z{&: T
ax=1 xr>2
which f is continuous for all x are
a. 1and -2 Bb.1land?2
e.—land 2 d. -1 and -2
x x E.I':
139.The value nf[i::(ﬂl Aa,b,e>0)
is
a. (abc)® b. abc
c. (abe)'"? d. None of these

140.What will be the equation of the circle whose
centre is (1, 2) and which passes through the
point (4, 6)7
ax+yt -2 —4y—20=0
boalty’+ 2 +dy—20=0
exl -yt -4+ 20=0
d -y’ + 2 —4y—20=0

-2 y-3_z-4
45

141. The line

plane

a dx+4y+5z=7 b.2r+3y+4z=0

c.x+y—=zs=2 d2x+y—2==0
142.The equation of a plane passing through the line

of intersection of the planes x + 2y + 3z =2,

x =y +z =3 and at a distance ifnt:nn the point

is parallel to the

V3

(3, 1,=1)is

a.5r—1ly+z=17 b.v2r+y=3/2-1

c.x+y+z=-\-@ d.:r—-»Ey-El—-\JE
143.The angle between the lines 2y =3y =—z and

br=—y=—4dzis

a. 3° b. 45°

c. 90° d.0®

144.The point of intersection of the lines
x=1_y-2 =z-3 x—4 _y-1
= = 3.'I1d =
2 3 4 2
a. (0,0,0) b. (11, 1)
c. (-1, -1, -1) d.(1,2,3)

=zis




21‘
1-4*

dx is equal to

145.(

1
a. (log2)sin™ 2° + C b. Esi.n_l ZF+C

e sin' ¥ +C d. 2log2sin™' 2* + C
log2
12
186.[ sin xdx
a. 2 b3 e.0 d. 5
147. Integral of | ___dr
IB[I +t ]3“

a 4"+ 1" BAEM 11
e 4 + 1 1 d. None of these

14 8. Three of the six vertices of a regular hexagon
are chosen at random. The probability that the
triangle with three vertices is equilateral equals

1 1 1 1
a. — b — o, — d. —
2 5 10 20

149 ._Five persons A, B, C, D and E are in queue of a

shop. The probability that A and E are always

together, is
a. L b. E c. E d. ﬁ
4 3 5 5

150.1If A, B and C are mutually exclusive and
exhaustive events of a random experiment such

that P(B) =§ P(A) and P(C) =§ A(B), then
P{AUC) equals

L b2
13 13
c.i d'.l
13 13

151. A student answers a multiple choice question
with 5 alternatives, of which exactly one is
correct. The probability that he knows the
correct answer is p, 0 < p < L. If he does not
know the correct answer, he randomly ticks one
answer. Given that he has answered the
question correctly, the probahility that he did
not tick the answer randomly, is

a. 9 b.—s’ﬂ
4p+3 Ip+2
5p PR
4p+1 dp+l

152. If x and y are acute angles, such that

3
COSXT + Cosy =Eam:lsinx +siny= E,then

sin (x + y) equals

b.

d.

i1
Siles o pe

O b | B

tan A cot A
+

can be
l—cotA l1—tan A

153. The expression

written as
a.sin Acos A+1
B.sec Acosec A+ 1
e. tan A+ cot A
d. sec A+ cosec A
154.1f sin 2x =4 cos x, then 1 is equal to
E.E:I:E,nEZ b. no value
2 4
c.m'l:+{—1}|'%,nEZ d.imt:t%,nez

155.1f f(x) satisfies the relation 2f(x) + f(1 -x)=x"
for all real x, thenf(x) is

a_x’+9.r—1 b_r*mx—l
6 3
l3_:*"+-1x—1 d_::2+4.1‘—1
3 6
156.1f A={1, 2.5, 6} and B={1, 2, 3}, then
(AxB)m (B x A)is equal to

a. {(L, 1), (2, 1), (6. 1), (3, 2)}
b. {(1, 1), (1. 2), (2, 1), (2. 2)}
e {(L 1), (2. 2)}
d. {(1. 1), (1, 2).(2,5). (. 6)}
157. Total number of elements in the power set of A
containing 15 elements is
a. 2° b. 15°
e 271 d.2" -1

158.What is the argument of the complex number
D), e

3—-i
a0 Pl .1 R
4 4 2
n=1’
159, Evaluate |::'m +(—'] :l .
1
a. 21-i) b. 7(i-1)
c. 2-Ti d. Si+4
160.1(+/3 +1)'® =2 (a + ib), then a® + b is equal
to
a. 2 b. 4
e 3 d. None of these



161. Using mathematical induction, the numbers

a,’'sare defined by ag =L a, ,, =3n" +n+a,,

{n = 0). Then, a, is equal to
an®+nd+l R e |

c.n®—n d. n® +n?

162.1f 49" +16n + P is divisible by 64 foralln e N,
then the least negative integral value of P is

a.—2 b.-3
c.—4 d. -1

163.2% - 7n - 1is divisible by
a. 64 b. 36 c. 49 d. 25

164.The solution of the differential equation

sec” 1 tany dr +sec” ytanx dy =0 is
tan y

a. tan y-tanr=C b. =C
tam x
z
o d. None of these
tan i

165.The solution of the differential equation
2 2

7 PGP O
dx ¢ £
e

(where, C is a constant)

y

HMI‘E

2 2

¥ = ¥ |-
a.¢[x!] Cx b.ﬂ[xg C
c.t(i'i]:cf d. [-'*'—2]=c

© 'S

166.The solution of the differential equation
(1 +y“)+(1—e"“'1*)%=ms

a. 2xe™ V==Y 4
B.xe™ ? = tan™ y+C

-1 -1
coxel Voo

d(x—2)=Ce ™'y
167. The value of 1-11+2-21+3-31+---+n-nlis
a.(n+1)! bin+1)+1
c.(m+1)-1 d. None of these
168.The sum of the series (1 +2) +(1 + 2+ 2%) +
(1+2+2% +2%) +---upto n terms is
a2 _p—4 b A —1)—n
e 2" _n d 2" 1

169.1f g, b, care in AP, b — g,¢ = b and g are in GP,

thena:b:cis
a.1:2:3 b.1:3:5
c.2:3:4 d1:2:4

170. The number of triangles which can be formed
by using the vertices of a regular polygon of
(n + 3) sides is 220. Then, n is equal to
a. 8 bh.9
c. 10 d. 11

1M. Out of 8 given points, 3 are collinear. How
many different straight lines can be drawn by
joining any two points from those 8 points?
a. 26 b. 28
e 27 d. 25

172. How many numbers greater than 40000 can be
formed from the digits 2, 4,5,5,7 ?

a. 12 b. 24
c. 36 d. 48
173. If a polygon of n sides has 275 diagonals, then n
is equal to
a. 25 b. 35
c. 20 d. 15

174. If two pairs of lines ™ — 2mxy — y* = 0and
22 = 2nxy —y® =0 are such that one of them
represents the bisector of the angles between

the other, then
amn=1 b.m+n=mn
e.mn=-1 d.m—-—n=mn

175. The distance of the point (1, 2) from the line
x +y +5 = O measured along the line parallel to
3r —y="Tis equal to

a. 4410 b. 40
) d. 10:/2
176. The slopes of the lines, which make an angle 45°

with the line 3x —y=->5, are
1

al -1 b= —1
2

1 1

Sl d—2 =

2 2

177. 1f 3 and 4 are intercepts of a line L = 0, then the
distance of L =0 from the origin is
@. 5 units b. 12 units

€. — unit

d. i units
12 3
178. Number of terms in the binomial expansion of
(x +a)™ +(x=a)® is
a. 25 b. 26
c. 27 d. 26.5



179. The coefficient of x'” in the expansion of

L+(l+x)+...+{1+2)*is

180. Middle term in the expansion nf[;c

% +L2 +2} is

X
a Y, b. ¢y, a. n_[ b. @
e Cu & 7 {9:!}21 ! {ft
T a
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